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21. Whatis appropriate meaning of the idiom

‘Do not always pick holes’ ? Find out the

correct answer from following options,
() Keep quiet

(b{Pick up a quarrel

(¢) Dig holes

(d) Criticize

22. Which of the following is the meaning of the
idiom “salt of the earth’ 9

(2) auseless person

I_{,]:?)/a very good and honest person
(©) adry person

(d) a selfish person

(c) to, by

(d) than, in

PCUX-2-22

24. Someone “strange or unusual in an amusing

way"”, is known as
(a) Zany

(b) Zit

(¢) Zombie

(d) Zap

Instruction for the Question Nos. 25 t0 29,

Read the followin & Passage carefully and answer the
following questions that follow ;

Since modem industrial society is highly organized,
if there is a strike i a vital industry, the whole

community suffers, I am not arguing that, the right to

strike should be abolished. I am only arguing that, if

itis to be preserved, it muyst be for reasons concerned
with this particular matter, and not an generg] grounds

of personal liberty. In 5 highly organized Country there

25. A strike is generally regarded as

) an act of indiscipline
(b) a gross violation of rules

(c) an undemocratic act

(d) an expression of individual freedom
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26. According to the author which one of the

21

28.

following best express the industrial society ?

(&) In an industrial society members are

(a) In an industrial society the individual

members is not important

(b) In an industrial society power is

concentrated in the hands of few

(c) Industrial society is blind to the needs of

its members

dependent on each other

The author is of the opinion that
(a) all strikes are bad

9',») strikes may be there in the interest of the
general good

(c) strikes should be suppressed by all

means

(d) strikes should always be encouraged

The phrase ‘this particular matter’ refers to

M the suffering of the strikes

(b) the fact that industrial society is highly
organized

(c) the unity of strikers

(d) the interests of the factory owners

-5-

PCUX-2-22

29. Inthe light of the passage, if there is a strike in

30.

31.

32.

a soap factory, it may be viewed as

(a) a serious matter
M a thing not likely to happen
(c) nota serious matter

() amatter of deep concern

Point out the synonym of DILAPIDATED.
(a) ruined

(b) weak

(c) lowered down

(d) broken

Which of the following is wrongly spelt ?
&) absces

(b) accelerate

(c) accessory

(d) accede

Fillin the blank in the following sentence with

appropriate conjunction :
She must weep,

(a) because

Y or
.P but

(d) and

she will die.
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33, Choose the odd one from the given options,
(a) G) 17
(b) LP28
(¢) AZ27
W
34, Find the missing letter from the following,
Bl1G]|N
D ] R
G N 7
(n) X
(b) W
(c) v
(d) v
35. Four Pairs of numpe

rsare given of whiel threo

are alike ang one |s different, Find the one
which i differeny,

©)Y7, 108
(b) 9,243
() 11,363
() 5,75

36. Which fpproach of decision making involves
solving a problem using traditiona] means ?

() Quantitative approach
(b) Scientific approach

(¢) Creative approach

Edj Routine approach

PCUX-2-22
33, fow o ot i 4 ey yfie |
() GGJ 17
(h) LP 28
() AZ.27
() Cn7

3. Perfafe i A au sy hifiy |

it} G | N

D J R
G

N 7

(n) X
(b) W
(c) V
(d)y U

35, aiensif ¥ v gy fow 103 % Forerit v s
N U arem § | 3T 0 Y W B |
(n) 7, 108

(b) 9,243
(c) 11,363
(d) 5,75

36. ﬁuht?ﬁﬂaﬁmmmﬁqﬁqmmuﬂmm

(b) AmPE 3
(c) ToRTenT I

(d) Prafivr supm
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37. Pand Qare in the ratio 5 : 6 and difference of

38.

39,

their squares is 99, The value of P is

(a) 45

_by15

(c) 22
(d) 18

The background signals, distortions and
distraction during commmunication are known as
(2) Feedback (b) Receiver

(c) Loudness (dy Noise

Statement : Some rats are cats.
Some cats are dogs.
No dog is cow.
Condnsion:}NocowismL
JE Nodogisrat
/III.Scmecazsm:mxs.
Choose correct option :
(2) only II and II follow
(b) caly III follows

(L 1L I follow

(d) canly I2nd I follow

20, Pesimeter of a trizngular field is 540 meter. The

ratio of its zms is 5 = 12 : 13. The area of this
feldis

(@ N sg- met=r

@) 9320 sq. meter

(€ 9T0'sq meeer

(@ 930 sq met=T

%} ST ST B
(a) TR (b) STt .
(c) o ety (d) 9K

39. @A : o g fafeermt € 1
o fafeeai 9 € |
I e T T R
1. 18 T Rreeht 7 2 |
1. hI$ e <1 el 2 |

1. %o fafcaat =3 € |

T frepeg = g

(2) “aet 119 10 98 §

(b) et I & &

() LII T w& &

(d) Fat Taw 1o §

e

40. T Prehm @ w1 i 540 et 2 qer smy

A T IR 52 12: 132 | 59 Q1 Swg
71 g 7

(2) 9450 = e
(b) 9320 = tex
(c) 9720 a7 ey
(d) 9560 =i #frex
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2.

+ Reud the following statements and select the

43,

COITNCE answer,

Statement 1 Qommunication is tveversible.

Statement 2 Communication is constant.

(0 Only Statement 2 is true

() Both the Statements 1 and 2 are true

(©) Neither of the statement is true

9 Only Statement Lis true

Which one of the following is NOT a skill of
nterpersonal interetion 9

() Empathy

(®) Courtesy

{€) Administrative power
(d) Positive thinking

1= 18, M=26ad COME = 72, then value
of GO is

(0) 40

8B, wWi= IS, M =26 COME =72

(b) 72
(oY 44
(d) 38

44, Identily the missing term from the following

options for the given series.
AND, COF, FP1, JQM,

(1) PRT

(b) ORR

(c) ORS

(d) QRS
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45. Which of the following is NOT a barrier of
cflective communication ?
(n) Language L)) Colour
(¢) Culture (d) Noise

46. 1f ‘GOLD’ is expressed as *‘HOMB' in n code
word and ‘SONS’ is expressed as *“TOOT" in
a code word, then ‘CORD' can be expressed

in code word as
(a) TOOS (b) TONT
.(c) DOSE (d) TOPT

47. Which of the following is NOT characteristics
of problem situation ?

() Complexity of solution

(b) Organization of problem situation
(c) Similarity of the problem

(d) Size of the problem

—

48. Which of the following is NOT a wlidely
recognised and accepted style of interpersonal
communication ?

(a) Assertiveness
(b) Persuasion

L(c) Manipulativeness
(d) Aggression

49. The LCM.of x*-y% . x*-y* and
x’ - .\1)' - xyz + )'3 is
@ (+y) (- & +y +xy)
) x+y) -y & +ytexy)
© (x+y) (- (F+y-xy)
@ x+y) -y
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46,

a7,

49,

PCUXAD2 =22

Prafealtad ff O R TR I R T BT
iR 7

ORI (hy tn

() gl (1) Wi

Al GOLD' @Y o S fl TIOMIY [mmg
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(0) NOSTY () TOMT
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(<)) TOTEAT ¥RT SR
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e wimant §

(W) (X4 y) (x=Y) (x* 1 y:l 1 NY)
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S50. Which option is/are to be followed ?

Statement : Money is a huge motivator.

Conclusion : 1. People get motivated only
when they expect to get some
money for doing or behaving

in a certain way.

2. There are some factors
other than money which also

motivates people.
Codes :

(2) Only 2 follows

(Y Both 1 and 2 follow
() Neither 1 nor 2 follows
(d) Only 1 follows

th
51. If13 August, 2017 is Thursday,

then what day
of the week would pe 27t 5

ugust, 2023 ?
(@) Friday

(®) Saturday

(©) Sunday

_(d Thursday

52. In decision making quality of choices are
influenced by

(a) Abstraction
Q) Intelligence '
.(})/ Perception
(d) Mental set

-10.

50.

b i

PCUX-2-2
fora famrey @1 e foRa s 2%
HUA mw‘u@ﬂfﬂm% '

Premd: 1. @ ft 3@ B 1 a7 v R

TF A R A SR F ¥ fig
F3 1 IA f Infie we |

2. W% e f 9 ¥ ww d 5
<t 1 A w E |
e
(2) e 2 sTgaf Brar 2
(b) T 1w 2 Frgafa 2 3
(c)q?ﬁmaﬁzaagqﬁaam%
(d) 39 1 3rgafc B 2

afe 13 3, 2017 =1 Jewafmm 2, 9 27 T,

2023 aﬁmmaﬁq_mﬁqm ?
(a) THar
(b) wiER
(ORECI

(d) geeafoar

52. ﬁﬁqéﬁﬁﬁmﬁmwﬁaﬁ?ﬁ%

(a) 3ngen &

) I

(c) Weagieor @
(d) Trfde f=mg
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53, The number of parallelograms in (he adjoining

PCUX-2-22

53, e st 3 AR =it ) wom @

JAVAVAN

(b) 15
d) 13

(a) 14
(c) 16

54, TH T IS HeH H ‘HOTEL’ %! 3003 &9 & Hhifed
fp1 a1 & | ‘HOSTEL’ 1 %Ig 11 & 7

(a) 474 (b) 374
(c) 360 (d) 558
55. g fpfe e FTE@ P TR 7
1, 1 g 7
2. 98 e fomn 7
3, 3fidh
4, T8 &9 g1 7
2 R T Fahdl w1 IUT e Fat faeey
%1 = HifT |
(@) 3412 (b) 2314
()3142 d) 1324
56. afe frd fram & afafa 5341, 4086 & whEfia

T 4772, 5265 @ wiafda fra sman R, @9 7614
sfafda gm

(a) 6174
(c) 8645

(b) 7038
(d) 4238

figure is
(a) 14 (b) 15
(c) 16 (d) 13
54, Inasccretcode message ‘HOTEL’ is coded ag
300. What will be the code for ‘HOSTEL’ 7
(a) 474 (b) 374
(c) 360 (d) 558
55. What is correct order of writing a press
relcase ?
1. What happened ?
2. Whodid it ?
3. Headline
4. When did it happen ?
Using the code given below, choose the
correct alternative.
(a) 3412 (b) 2314
(3142 (d) 1324
56. Ifunder some rule 5341 is transformed to 4086
and 4772 is transformed to 5265, then 7614 will
be transformed to
(a) 6174 (b) 7038
(c) 8645 (d) 4238
-11-
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E,?;:g PCuUx.; _ 2
S7. Going S0 m to South of her house Radhikaturns | 57, ufirt 3 wx & 2w il @ 5045 Tt 3
leftand goes to another 20 m. Then, turning to fot amd zat 20 . Ferlt R | 3 . 3?%,-;
the North, she goes 30 m and then start walkfng e 30 M. el & 3 TR D 3y W Hm
to her house. In which direction is she walking '
now ? W%Imﬂﬁﬁmﬁ‘mﬁ?ﬁ@%?
(a) North (a) I
(b) South-West (b) gfemr-ufgeam
(c) East (c) T
4" North-West (d) FeT-uffam

58. If the radius of 4 sphere is increased by | 58, afe feht W 6 Brea 2 8 g1 & e A

2 cm, its surface area is increased by 352 cm?. 3% 93 1 &A% 352 i g AT 2 | W
What is the radius of the sphere ? [TE = 2) H =T 7 [n = 2}
(@) 7cm ! (a) 78kt \
a
(®) 8cm 8
Qo ¥ (b) 8 et
(¢) 4cm () 4y
c

& Eom

(d) 62t

-

situation do You handle first ?

W 7
(@) A dumpster next to the main tent EEInn]
pavallion is on fire i = b i
P i 3T Wl R
€ 1éms wheel is stuck in midair with
people still on it TSR AR R et
Y o, ¢ T
(¢) A man obviously drunk has passed out :
- (c) T | S
and lying by the ticket booth ¥ et
faght 3 v wer o
(d) There is crowd forming around two (@) < o Th-faah =R Rennd %
unarmed teenagers ongoing with arguments G-I *rg T R 2

-12-
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61.

12 15.
62. Number of prime factors [1] 5 x(i) is
6

63. According to ‘rational decision making model’,

B

. Individuals receiving the message ask

themselves the basic question.

1:Is the person giving the message trustworthy
and sincere ?

I1 : Does the source know anything about the
subject ?

Using the codes given below choose the correct
alternative.

(a) Only II is relevant
‘/(bﬁolh I and II are relevant
(c) Neither I nor II is relevant

(d) Only Iis relevant

Decision making occurs as a recreation to

(a) Mood

by Problem

(c) Communication

(d) Solution

(a) 36
(b) 37
(c) 52
(d) 33

last step is

(a) Selection of alternative

(b) Identification of alternative
(c) Evaluation of alternative

\_(9/Selection of the best alternative

-13-

62.

63.

(a) 36

(b) 37
(c) 52

(d) 33

T s S 3 T 36 ST R T
(a) Torepeq =1 ===

(b) Terereq it wE=m

(c) Fren =1 g .

(d) watm fFer s
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&L Nomders of triangles in the following figure is

@2 @) 24
s @ 18

67. In a ketter serjos
B s
&Mmmﬂrmmm
(2) bbacchb
7 ecacchd

(c) beabebd
(d) cbacchb

-14-

B

PCUXQ...:
64, Frefiien ol A Pt 9 w2
@ 22 (b) 24
(©) 26 ) 18

© X5
@ 194

6. I TS S S TRRs s SIS B

*%‘Eﬂiﬁ?’a’tﬁaﬁ‘.
[CURSS R Ee gy o

@) s fEshwng

67. 35T

3__bd_a__ bhanxc
W=igasss

(2) bbecchd
() ccacchh
(€) beabehh
(d) chacchh
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69.

© 70. The sum of deviations of a set of observations

| 71.

Which statement is NOT correct ?

(a) Every thombus is a parallelogram,
() évery square is a rhombus.

(c) Every rhombus is a square,

(d) Every rectangle is a parallelogram,

What is the main characteristics of Delphi
Technique for group decision making ?

(a) Alternative communication
(b) Written communication

(c) Verbal communication

}dj Face-to-Face communication

Xpp Xgs weees X measured from 50 is —10 and
the sum of deviations from 46 is 70, then the
number of observations is

(a) 20
(b) 30
() 40
() 10

A person buys 4 horses and 9 cows for X 13,400.
If he sells the horses at 10% profit and cows
at 20% profit, then he earns a total profit of
¥ 1,880. What is the cost of a cow ?

(a) X 600~
() 900,
() T400

,(d)/N one of the above

-15-

70.

8

PCUX-2-22

8. Fr-m TR T E T

(@) 53 T T R S
(b)gﬁﬁaﬁ@m% !

() v g T T R |
(d)gﬁﬁmﬁm Gk 2l

69, e Fofa 1 3 et T A R R
TR 7

(a) faeeq H
(b) ffe w=
ORUESEEL
(d) ITFA-VEA TR

&l H TR X0 Xy ooy X 50 ¥ f&@ o
Rrarert 1 9m — 10 & 31 46 & e e et
AN 70 ], a9 Yz 6 GET B

(a) 20

(®) 30

(c) 40

(@ 10

T SR 4 €13 T 9T W T 13,4003 Wl
? 1 3R 77 9 9 10% & TR w 20% T

WA ], A Iqw o e T 1,880% | s M
R AR ?

(a) Y 600
(®) T 900
() T400
(@) 3w A A I
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72. Find the missing number from the following

alternatives,
FZI 24 36
11 14 12
3 ? 4
‘ 77 112 108
(a) 4 (b) 6
(©73 (d) 2
73. If131x4 217y =827 and 217x +131y =913,
then what are values of x and Y tespectively ?
(@) 2ang 5
() Sand 7
(©) 3and >
'_(ELNone of the above
74. The fifth leger of the letter sequence
Y.W.T,p,. is
@ L BYK
(© 1 d 1

75. 211 tle;ldency to fixate on initig] information js

(@) Anchoring bjas
_(byTonfirmation bias

(o) A\'aﬂability bias

(d) Overconfidence bias

76. 8isrclatedtn813nd2?isrelaredt0256inthe
Same way as 64 related to

() 425 ®) 525
y’ 625 d 225

-16-

3

PCUX-Z ~7
7. ﬁqu.rrmﬁm—qﬁih}mﬁwmmﬁq,

21 24 36

11 14 12

3 ? 4

7 112 108

(a) 4
(3

(b) 6
@ 2

73. afe 131x+217y = 827w 217x + 131y =93
T x T y % W E 7

(a) 2wg 5
() 5w 7
(c) 3wg 2

(d) I 3 @ ¢

74. Hﬁaﬂa?qY,W,T.P, ..... 1 gigat quf § |
(@) L
© 17

75. Hﬁﬁm?ﬁmﬂtf@r{m&ﬁuﬁﬁaﬁﬁ%
(2) Gt qatrg

(b) FIR yaing

; { .
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78.

9.

30.

31,

‘Do you like working 7* This question is an
example of

(a) Close question
(b) Positive question
(c) Negative question

[(d)"Open question

The process of listening consists of
(a) 5 stages (b) 6 stages
(c) 7 stages (d) 4 stages

Find median for the following data :

Class

Interval 0-20 |20-30(30-40|40-50
Frequency | 42 25 58 40
(a) 36.6 (b) 32.67

(c) 34.56 (d) 38.5

If 12345671586 stands for TERMINATION,
which number does 671586 stand for ?

(a) RATION by NATION
(c) MOTION (d) NOTION

Which one of the following context refers to
the relationship between the sender and the
receiver ?

(a) Physical

(b) Social

(c) Cultural

(d) Chronological

-17-

71.

78.

79,

80.

81.

PCUX-2 - 22

g TR SR A TG § 7' S U S L

(a) ¥ WA

(b) YepTUcHe S

(c) TTeRIITHSD BLE]

(d) geim T

g <t v Fifte @9

(a) 5= (b) 6=

(c) 7= (d) 4=T

frfefas ol & e e 39 Hile
Ftate | 0-20 |20-30| 3040 | 40-50

g 42 25 58 40

(a) 36.6 (b) 32.67

(c) 34.56 (d) 38.5

afg 12345671586 =7 a7 TERMINATION %,
@ W& 671586 =i 1%} =1 B ¢

(2) RATION (b) NATION
(c) MOTION (d) NOTION

ﬁn%f@aﬁﬁaﬁq—mwéaﬁﬁqmaﬁtmm
F ¥ ey = quf 4

(a) ¥iifep

(b) TR
(c) Heghe
(d) retgshfires
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82. Which of the following is NOT a stage of
creative process in decision making ?
(@) Preparation
Y Mumination

(€) Identification of proposition
(d) Verification

8. Ifx= -—l—-, then value of 4x> = 2x2 = 8x + 5 is
V341
(@) -1 (b) 0
(c) 2 ) -2

84. The tendency to have more confidence in
judgements and decisions than we should, is

calle
ja‘)/gver confidence (b) Self-confidence

(c) Confidence (d) None of these

85. Ifthe compound interest on a sum for 2 years

at 12 % Perannum is X 340, then the simple

mterest on the same sum at the same rate for
the same period of time is

(@) T 320 (b) T 330
(c) ¥ 335 (d) T 310

86. Ammge the following words
in meaningful logical order,

1. Never

2. Sometimes
3. Generally
4, Seldom

5. Always
(a) 5,3,4,2,1

532,41

(b) 5,2,4,3,1
d) 5,2,1,3,4

-18-

=

PCUX-2 -

P

i

g2, Pl &) it Arfeifea i & @161 v% G
i w o Tl B 7
(n) Q)
(b) Wl |
(c) wama LAREIC] !
(d) wegm=

I 2
83. aR xum,zhm{"-zx -8x45 |

;
W B |
(a) -1 (b) 0

(c) 2 d) -2

84, mﬁqﬁmmmﬁﬁﬁ%nﬁmf
it IR B, e & ‘
(a) tfcfreara (b) FreHfazama
(c) ferara (d) w4 @ =i¢ 74

85. R @ TR 1 299 12%%311%'«11'4?136

TG A 3408, 3 0 @
St 31t & fere wvrer w7 B o |
@30 (b) 330 |

(c) 335 (d) T310

86. Prafeen wedt 9 aretet s w3 o
HI |

L. i =

2. =t

3. gW=E:

4. Bfi-Hfi
5. wdgy

(@) 5,3,4,2,1

() 5,2,4,3,1
(€) 5,3,2,4,1

(d) 5.2,1,3,4
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ﬂ- 'wha‘ percentage of message is perceived

non-verbally ?
(a) 55% At1750%
(c) 40% (d) 30%

88. which of the following is an exam

code communication ? Ple of dress
«4) Non-verbal (b) Written
(¢) Verbal (d) Spoken

. Rajanis brother of Sachin and Mgy,
of Rajan. Jagat is brother of Priya
daughter of Sachin. Then who is
Jagat?

(a) Manak
(c) Sachin

ak is father
and Priya is
the uncle of

(b) Rajan
(d) None of these

. What type of communication is a press
release ?
(a) Intrapersonal

(b)-Public
(c) Interpersonal

(d) None of these

. Which of the following is NOT a feature of
group decision making ?

(a) Active interaction between group
members

(b) Consensus among all the members
3 Jw)’ One head is better than two
(d) Joint responsibility for the decision

. A circle touches all four sides of a quadrilateral
ABCD whose sides are AB =8 cm, CD =9 cm
and BC =7 cm. The length of side AD (in cm) is
(a) 10 (b) 11
(c) 12 (d) 8

87.

88.

89.

90.

oL

92.

.19-

PCUX-2 -22
ot o P st ST A yefrEa
o et @ 7
(a) 55% (b) 50%

(c) 40% () 30%

e fagfe feg TR T HER 2 7
(a) I 3afFas (b) GEwH
OERERIEIED (d) 9 q S5 &I

fefafen § @ sF-T1 w o oy 6
fertoen i R 7

(a) 998 % HqHl % €19 Ghny I=i=te
(b) Tt wewl & 9 wealy (miw)
(c) T uitrss 9 & | 2

(d) Foofa 3 fore e et

W I, TR ABCD 1 ®f =m0 yomait 2y

w8, R e AB = 8 3,

CD =9 % 3t BC = 7 3t
s (8t ) @ EEADE

(a) 10
(c) 12

(b) 11
(d) 8
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93. Which communication has an emotional
appeal ?

.(ﬂi/inlerpersonal communication
(b) Group communication

(c) Intrapersonal communication
(d) Mass communication

94. Complete the sequence with the correct option
from the following alternatives.
HOTEL:12::FILM:?

(a) 14 (b) 16

(c) 18 _'(j,}/l(]

95. The median of the first 10 prime numbers is

(@120 (b) 13.5

(c) 12.9 (d) 11.0

96. Which of the following is NOT related with
the characteristics of problem solver ?
(a) Set variables
(b) Past experience and practice
(c) Generality of solution steps
(d) Motivational factors -

97. 25 letters of English alphabet are arranged

below :

V C F U M
P QO X S:. H
I Z A I E
B L D K Q

N W G "T0Y

If all the letters were to be arranged
alphabetically, which letter would NOT chan ge
its position ?

(a) W (b) X

L(yx' @ U

93.

94,

95.

96.

97.

=20-

PCUX-2 - 22

g war i © AR e @ 7
(a)mﬂ%?ﬁﬁ'ﬂf{

(b) Vg ®R

(c) 3a:dafeas Gan

(d) ¥ TR

Pt Rt 3 & wét freea gro sj@en #1
of Hifvr |

HOTEL: 12;: FILM : ?

(a) 14 (b) 16

(c) 18 (d) 10

TEH 10 ITST @@l Y wifeye ®

(a) 12.0 (b) 13.5

(c) 129 (d) 11.0

Frafafen § @ ¥F-w1 o wwen qonm wQ
Tt 6t RettvarsT & doRE A 2 ¢

(@) = -

(b) T 13w IR s

(c) WHTUR % 9&i <6 W

(d) SRR HIEw

St Foimren % 25 9vf Y EfRE € .
V.C..F U M

P O X S H

J Z. A I E

B L D K Q

N W G i AR, ¢

I ¥t aut it Joiren  ITER SHafa R
oY, A for oo <t fufy =@ et ¢
(a) W (b) X

©Y (d U
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98.

99.

100.

Find the missing number,

(a) 19
(b) 20
(c) 21
(d) 18

From the following equations X2 + y2 = 41

and x* - y"' =369 the value of x and y will be
respectively

_(ay%4,+5

(b) £4,+3
(c) +3,+4 IR
(d) +5,+4

Which one of the following valid conclusion
can be derived from the following premises ?

Premises : 1. All scientists are graduates,

2. No supervisors are graduates.

Conclusion :
(a) All graduates are scientists
(b) All supervisors are scientists

(¢) No graduates are supervisors

@/ﬁo supervisors are scientists

PCUX-2 -22

(a) 19
(b) 20
(© 21
() 18

99, freffea Tl % +y> =41 x* —y* =369

# x @@ y 1 qH HEA: B

(a) £4,£5

(b) £4,£3

(c) £3,+4 ‘

(d) £5,+4 V1 :

100. fieififan smemEl @ 99 R e Bt § 9

- v Y s Pmer s awm g 7
a1 ol Awhs wes e |

2. I YUEESR HF 781 ¢ |
e .

(a)wmaﬁﬁﬁﬁ
(b) it gotamgs e §

(c) IS T URaTEoR 78 3
(d) S graTE Sqfv T 8
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